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5A=FE=2 60, 227, 254
EREES 24, 663, 004
EE 10, 702, 144
BRI ER 0
EELEF 12, 620, 902
BAEL 72, 434
BEXEE 2,718,736
BRHERERE 2,045, 747
LEERE 3, 630, 436
XEE 921, 553
REXBE 3,086, 253
EEE 18,672,013
ELFHE 1,964
BIEE 1,942,196
BAmEENE 10, 184, 966
HEASRERE 535, 779
HERE 589, 408
EXRARE 0
e 2,336, 311
FNR 2 631, 383
HlmaE 369, 312
KEIKE 2,047, 368
EfEH 5,305, 107
REEH 2, 340, 582
HeE 291, 000
AHROE 4,691, 200
EE=EEES 4,149, 071
Bhp & 0
HFit& 0
ZitE 5, 443,593
HE 5,297,008

EE 3 185, 516, 724

2. EWE

A=K cp 488, 900
EHEES 0
EE 0
EBEHAMER (FHEEBTEY 2 311,768
SRERR 0
BAEE 84, 021
BEXEE 95, 646
i 22,675
BEEHERAE 0
L& 0
ERXEE 65, 066
E 298, 185
REXEE 765, 133
BIEERE 151,188
BimEEN & 6, 841,523
SHEEMSBRES 228,536
HERE 86, 592
e 88, 096
ENRI S A 0
HlmaE 29,177
KEIKE 62,417
EfEH 87,120
REEH 0
HRE 0
FRBEAES 0
HFit& 43,000
AHROE 0
HE 730, 024

EEES 12, 479, 067

BEERH 197, 995, 791




